Sunon

Jason Series EW77 High Conference Table
Installation Manual

This manual is used for the installation of EW77.240120.
Please read this manual carefully before use and keep it properly.



Assembly note:

. Use a protective layer and handle the product with care.




This picture shows all the accessories required, among them some are key accessories.
If you have missed any, please contact Sunon. Tel:+86-400-8600-666

Explosion diagram:

No. Name Pcs
1 tabletop 1




Accessory list:

C

B ]

v

C |

v

Allenkey | 4# 1| Allenkey| 5# ng(ng;:‘:ved Méx15 | 6
D | E F
ﬁountersunk Méx40 | g countersunk Méx25 pulling rod |¢55+4760 2
ex screw hex screw

G|

\

H |

1]

pulling rod )025*661 2

steel beam (1398+60*30

felt screen |585*300*12| 2

| J]

K]
(&

L]

2

abnormal footrest abnormal A
leg connector ~hana 2 | connoctor | hape adjuster Mé6x18 4
M N |
round tray | 13015 | 1 | leg 1069*76*48




1. Install the adjuster.

\ @
© 106976*48 @ Mé*18
(x4) (x4)



1. Install leg connectors ( the accessory comes with12 M6*25 screws )
2. Don't tighten the screws until all screws have been installed.

"

. abnormal shape
(x2)



1. Remove the pre-installed 8 M8*16 screws inside the leg connectors.




1. Use the pre-installed M8*16 screws to install steel beams.

4

small holes face up

® 1398%40*30
(x2)



1. Install the pulling rod.

G 3T
K
e
) )
®

abnormal

@ M6*40 @ 02581 @ shope @ ©25%1760
(x8) (x2) (x4) (x2)



1.Install the tabletop. ( Put the conference table upside down and place it on the cardboard )

The round fray used for
placing felt screen is
optional. Please ignore it
if it is not chosen.

@ abnornal shape @ M5
(x1) (xé)



1.Connect the pulling rod with the leg.




1. Insert the felt screen into the slot of tabletop.

@ 585*300*12
(x2)



1. Match the round tray' s slot with the bulging part of the tabletop.

@ 13015
(x1)






Acceptance note:

. Clean the surface.




@
Sunon
Suite 150, Building 525 Technology Drive, Irvine, CA.92618
sunonglobal.com 949-337-8838 info.us@isunon.com

feOMD





